H & 0l & AHS B Ml A

0234% =8 1 2] L sHEH
FA sSIHL
33 sHB3YH st
el sHsELd)|gEd (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
SE3H 164,127,304 157,808,599 6,318,705
= 80,420,470 77,932,600 2,487,870
Il 1,801,538 1,801,538 0
= 81,905,296 78,074,461 3,830,835
sH3d= 3t 103, 145,507 96,915,488 6,230,019
= 79,002,970 76,662,600 2,430,370
2l 1,801,538 1,801,538 0
= 22,250,999 18,451,350 3,799,649
sSHsELN)| ey 169,720 119,720 50,000
SHIMIHLUMNE =Y 169,720 119,720 50,000
201 £eH2aY| 53,700 23,700 30,000
01 At 2teltl 40,200 10,200 30,000
OMBAl+ SsHA EXEIL 10,000 0 10,000
sgdH g2 20,000 0 20,000
208 BF 2| 51,770 31,770 20,000
03 AIRHF=AE =AY 51,770 31,770 20,000
OMdll - Mt S St e =4 20,000 0 20,000
SN gRFd 1,048,380 1,019,810 28,570
sdHHAEA 245 988,380 959,810 28,570
307 2IZtol & 120,000 100,000 20,000
04 QIZHHARAIH E X 20,000 0 20,000
O=sAEdHsz a2 20,000 0 20,000
308 XM SOIH 8,570 0 8,570
01 MXHMBEEx= 8,570 0 8,570
OsdsdEZd d=2tUs 8,570 0 8,570
sgolti=d & 321X 25 1,079,000 1,038,000 41,000
SYOICHH |4 289,000 248,000 41,000
307 2IztolI& 278,000 248,000 30,000
04 QIZHHARAIH 2 278,000 248,000 30,000
OsgeldH S8 250,000 220,000 30,000
402 2I2EXH201H 11,000 0 11,000
01 QIZRFZ AL L (KA T &) 11,000 0 11,000
O A2 X2 11,000 0 11,000
sE=SA A 1,261,344 1,463,220 A201,876
= 924,120 1,106,100 181,980
< 337,224 357,120 A19,8%
s& sS00lssdH 238 XA 151,344 76,720 74,624
= 126,120 63,100 63,020
< 25,224 13,620 11,604
308 XXM SOIA 151,344 76,720 74,624
= 126,120 63,100 63,020
= 25,224 13,620 11,604
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hoH

766,300
679,000
87,300

1,042,800
924,000
118,800

A276,500
A245,000
A31,500

Mo

766,300
679,000
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924,000
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Mo
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1,042,800
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924,000
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A276,500
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hoH

7,040,850
6,316,750
724,100

5,745,450
5,005,750
739,700

1,295,400
1,311,000
15,600

hoH

10,800
9,000
1,800

14,400
12,000
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AB00

Mo
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500,000
500,000
500,000

hoH

5,773,000
5,773,000

4,974,000
4,959,000
15,000

799,000
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FA sSIHL
33 sYB3YH et
el Fdsgel 54 (SH9 H2)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
& 0 15,000 15,000
308 XXM SOl 5,773,000 4,944,000 829,000
= 5,773,000 4,944,000 829,000
01 HXHMBdEx= 5,773,000 4,944,000 829,000
OFERA= Az HAF & 2UEHEH 29 125,000 110,000 15,000
= 125,000 110,000 15,000
O3ERAH=s Ss3RNES 5,648,000 4,834,000 814,000
= 5,648,000 4,834,000 814,000
td=sgol =54 1,226,700 1,062,700 164,000
H4dsgel =&Y #Holdul XA 360,000 240,000 120,000
403 NXISHMSA=20l& 360,000 240,000 120,000
01 XEXISHMA 2 22 360,000 240,000 120,000
Oddgd=go s8g #Holyyl X 360,000 240,000 120,000
HesoldE 29 416,700 404,700 12,000
403 XIS =0l1& 56,700 44,700 12,000
01 MXISHMA 22X 56,700 44,700 12,000
O0g=sgaldliE 2t I 12,000 0 12,000
Hdsgel NEst= s2HsIE 32,000 0 32,000
307 2Iztol& 32,000 0 32,000
02 QB MAIH S X 32,000 0 32,000
Old=gel MEst=s S28SXE 32,000 0 32,000
SANE2H 2 22|23 2,287,213 1,832,213 455,000
= 455,000 0 455,000
Il 1,801,538 1,801,538 0
< 30,675 30,675 0
sYRitd= & 22 XE 455,000 0 455,000
= 455,000 0 455,000
308 AXIHMSOIH 455,000 0 485,000
= 455,000 0 455,000
01 MXHMBdE2x= 455,000 0 485,000
Osgsag=z & 282X 455,000 0 485,000
= 455,000 0 455,000
SENS LY 64,144,500 53,347,000 10,797,500
= 50,949,000 43,245,000 7,704,000
= 13,195,500 10,102,000 3,003,500
BH==OH & (XIXEA) 50,949,000 43,245,000 7,704,000
= 50,949,000 43,245,000 7,704,000
402 RI2EXHE01 ™ 46,129,000 40,125,000 6,004,000
= 46,129,000 40,125,000 6,004,000
02 QIZHNHE AL E X (01X THE) 46,129,000 40,125,000 6,004,000
Obi==IH & (212b2 X) 46,129,000 40,125,000 6,004,000
= 46,129,000 40,125,000 6,004,000
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SA - FE - SRA(3H) - MRAE - Off &4 I8N Hws2
403 NXIEHSIH=01A 4,820,000 3,120,000 1,700,000
= 4,820,000 3,120,000 1,700,000
01 XIS EE 4,820,000 3,120,000 1,700,000
Obi==J1& (XIXEH) 4,820,000 3,120,000 1,700,000
= 4,820,000 3,120,000 1,700,000
SEEE SYUES HEAMY 500,000 25,500 474,500
403 THAIEMS =01 500,000 25,500 474,500
01 AXISHA=2 2 500,000 25,500 474,500
OUS2E sZE=t 500,000 25,500 474,500
A2 SENLAY 3,333,500 864,500 2,469,000
403 AXIEHHSAH=0lH 3,333,500 864,500 2,469,000
01 XIS A =2 3,333,500 864,500 2,469,000
O SENLAS 3,333,500 864,500 2,469,000
HusS FAZelA 150,000 0 150,000
403 AXIEHMSAH=0ld 150,000 0 150,000
01 MXIHH A =22 xE 150,000 0 150,000

Ottns SAZALIAMS(E

At 150,000 0 150,000
sHIIBAIE &5 24,887,800 31,287,375 6,399,575
= 20,448,100 27,305,750 26,857,650
S 4,439,700 3,981,625 458,075
IR 2e| BRI 22 12,999,000 19,257,000 26,258,000
= 12,999,000 19,257,000 26,258,000
402 SI2ERHE01 M 12,999,000 19,257,000 26,258,000
= 12,999,000 19,257,000 26,258,000
02 QIREX 2 AL 2 (0| 12,999,000 19,257,000 26,258,000
O=Jr2elZ XM W+ 12,999,000 19,257,000 26,258,000
= 12,999,000 19,257,000 26,258,000
=t E2e /L RMIME 4 3,413,800 4,223,375 809,575
= 2,649,100 3,248,750 599,650
== 764,700 974,625 A209,925
403 AXIEHMSAH=0lH 3,413,800 4,223,375 A809,575
= 2,649,100 3,248,750 599,650
= 764,700 974,625 A209,925
01 A= 2L 3,413,800 4,223,375 809,575
OXg2e|ZxH e+ 3,313,800 4,223,375 A909,575
= 2,549,100 3,248,750 699,650
= 764,700 974,625 A209,925
O=It2Ael M HE* 100,000 0 100,000
= 100,000 0 100,000
SAE M=K AIEE22ZA 2,000,000 1,332,000 668,000
403 NI EMS =01 2,000,000 1,332,000 668,000




AN SHEHL
3 Uy 23
Cel: SHIIBAIE &3 EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
01 AXESMA2EE 2,000,000 1,332,000 668,000
O=FM=X ANE2ZAYE FLEH & I
sg2 2,000,000 1,332,000 663,000
WVEE sth= ol 25 60,895,050 60,820,300 74,750
= 1,327,500 1,270,000 57,500
< 59,567,550 59,550,300 17,250
Mg OHEA Mgt A= 60,895,050 60,820,300 74,750
= 1,327,500 1,270,000 57,500
< 59,567,550 59,550,300 17,250
SENSAS AL 750,750 676,000 74,750
= 577,500 520,000 57,500
[ 173,250 156,000 17,250
308 XXM SO0IA 750,750 676,000 74,750
= 577,500 520,000 57,500
< 173,250 156,000 17,250
01 AXEHH B ELES 750,750 676,000 74,750
Osznsee X 750,750 676,000 74,750
= 577,500 520,000 57,500
< 173,250 156,000 17,250
AH2IJH(sFHL) 86,747 72,811 13,936
J23tl(sgE ) 86,747 72,811 13,936
Jl2dHl(sEd ) 86,747 72,811 13,936
201 fer= 3| 39,100 32,300 6,800
01 AtR2t2l] 39,100 32,300 6,800
OsgEd =y 39,100 32,300 6,800
202 Ot 37,927 31,331 6,596
01 =LH0i 37,927 31,331 6,5%
Osgdd g4 37,927 31,331 6,596
203 HR=H] 9,720 9,180 540
M FAZSLRFEI 3,780 3,240 540
OsSE M 3,780 3,240 540




